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Q1. 1961 F STIFT ATATHIH F ATHTL, AR ARTIRI T A FAT JIeT ATRT?
(a) 60 T

(b) 70 a9
(c) 80 7
(d) 75 a9
(€) 65 =
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Q2. HUHT F HHTS AT ATH T 6T M8 AT gl =T =T SIav §, v gl STaT §
(a) ST
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Q3. BSBDA =[AaH I« AaeqHAT I AAIFAT & o7 Fafaa ST ava F e o a3,
T GTaT 3. BSBDA FT 07 97 T 5-?

(a) Basic Savings Branch Deposit Account

(b) Balance Savings Bank Deposit Account

(c) Basic Savings Bank Demand Account

(d) Basic Savings Bank Deposit Account



(e) T U fAehedi § T F1E TT AR B
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Q4. 1 AT, 2010 & TATAT G ATA Tgel o qHTH TTSH A TSI X TUITAT (System) FT v I &
JEAT AT g2

(a) FYT=T 2T JorTehY

(b) S =T JOTTeAT

(C) T ZX TOITeAt

CEREEC ]

(e) JTYTT TT TOTTeAT
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Q5. dF % SATAT S+ ST H{h STHT THIRIT Al T Tohdl gl

d) ATEST AHTIT

A

(e) =T @1
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Q6. “T= et RAre” Rurferea & 9 e w¥re g Tiaay sa1s, STl 872
(a) TferaTE fa=Te §% (ADB)
(b) fa=T 5% (WB)

(c) = Sa9THE §% (NDB)
(d) farsT =TT HTST (WTO)
(e) o wru faekeut ® & IS GT TEl &
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Q7. Fafafaa & & R Avew & 57 = forgg % &0 # RS 73 v s asar &2
(a) STHT THTOTI=



(b) atve
(c) i
CELRITRERE]

(e) R T et & & 1S 7y TR 2
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Q8. fwfarfea & & stw-ar feft =i gy s o T =k T TR =51 272
(a) oz ==
(b) FiEE =

(c) A=T =+

CEECEET

(e) oW TU faeFeddi § & 1 97 T2l @
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Q9. “forg FraeeHe R wfdad fveen g7 SohTfRrT it STt 82
(a) IBRD

(b) WTO

(c) IMF

(d) UNCTAD

(e) ADB
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Q10. 9T | &ordt faer EARUSIERELUS 1G-S
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Q11. Which of the following economic concepts is categorised on the basis of Current Account
or Capital Account or both?

e & & Y oY T SraemeuTTd =T @TaT AT Hiveer @ra AT AT F ST I a9 iFa ;¥ T
a2

(@) TTATT HIAT

(b) TorEft 91 3 FTATS WX FT o7
(c)

(d)

C) TF LI IS

d) T T 3T (GNI)

(e) TF 99 § eI T T Tl €5
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Q12. ST WG TCHIL T Tt TR 3l =07 o 1 (a2 grav §, Av QA1 YSit 3i< ToTea il
gl JTaT 8.

(a) TT=T&E =1eT

OEEEREIE

ONREED

(d) Z= 3w

(e) STaTT |HEAT T 99 (Balance of Payment Problem)
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QI13. goheT Tl @TaT hae v/ T & Y T A T AT ST GhalT &
(a) T = T

(b) =TT T
(c)&: ad

CEEER]
(e) T AW
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Ql14. Ffs AWRF I AstT (SCSS) FiY ufugar srafer fhast 872
(@) 5 9%

(b) 50 T9
(c) 1 a9
(d) 10 a9

(€) 15
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Q15. PSLCs #t Faer 9 a7 Afort g, sraia PSLC =&, PSLC wiw U Hiwia fham,
PSLC Tifisea< 3i< PSLC ATEH! UexqTssisT. PSLC T 4T 313 §7?

(a) Public Sector Lending Certificates

(b) Priority Sector Lending Certificates
(c) Priority System Lending Certificates
(d) Priority Service Lending Certificates
(e) Priority Sector Lending Cash
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Solutions

S1. Ans.(c)
Sol. According to the Income Tax act of 1961, the age of Super senior Citizens is 80 years.

S2. Ans.(b)

Sol. A dividend is a payment made by a corporation to its shareholders, usually as a distribution
of profits. When a corporation earns a profit or surplus, it can re-invest it in the business (called
retained earnings) and pay a fraction of the profit as a dividend to shareholders.



S3. Ans.(d)
Sol. Basic Savings Bank Deposit Account (BSBDA) a simple, basic account for routine banking
transactions without the need of minimum balance requirement.

S4. Ans.(e)

Sol. The Base Rate system has replaced the erstwhile Benchmark Prime Lending Rate system
with effect from July 1, 2010. Base Rate shall include all those elements of the lending rates that
are common across all categories of borrowers.

S5. Ans.(e)
Sol. Banks cannot accept interest free deposits other than in current account.

S6. Ans.(b)

Sol. The Doing Business Report (DB) is a study elaborated by the World Bank Group every year
that is aimed to measure the costs to firms of business regulations. The study has become one of
the flagship knowledge products of the World Bank Group in the field of private sector
development, and is claimed to have motivated the design of several regulatory reforms in
developing countries.

S7. Ans.(c)

Sol. Debt instruments are assets that require a fixed payment to the holder, usually with interest.
Examples of debt instruments include bonds (government or corporate), mortgages, Commercial
Paper and Certificate of Deposits.

S8. Ans.(d)

Sol. An order cheque can be a bearer cheque if the words or bearer are not cancelled out. A
crossed cheque is a cheque that has been marked to specify an instruction about the way it is to
be redeemed.

S9. Ans.(d)

Sol. The World Investment Report has been published annually since 1991 by The United
Nations Conference on Trade and Development (UNCTAD). Each year’s Report covers the
latest trends in foreign direct investment around the World and analyses in depth one selected
topic related to foreign direct investment and development.

S10. Ans.(c)

Sol. Treasury bills (T-bills) offer short-term investment opportunities, generally up to one year.
They are thus useful in managing short-term liquidity. At present,

the Government of India issues three types of treasury bills through auctions, namely, 91-day,



182-day and 364-day. There are no treasury bills issued by State
Governments.

S11. Ans.(a)

Sol. A Balance of payments statements is a summary of a nation’s total economic transactions
undertaken on international account. It is usually composed oftwo

sections:-

1. Current Account

2. Capital Account

S12. Ans.(b)

Sol. Budgetary deficit is the difference between all receipts and expenses in both revenue and
capital account of the government.If revenue expenses of the government exceed revenue
receipts, it results in revenue account deficit. Similarly, if the capital disbursements of the
government exceed capital receipts, it leads to capital account deficit. Budgetary deficit is
usually expressed as a percentage of GDP.

S13. Ans.(e)
Sol. SukanyaSamriddhi Account can be opened up to age of 10 years only from the date of birth.

S14. Ans.(a)
Sol. The maturity period of Senior Citizen Saving Scheme (SCSS) is 5 years.

S15. Ans.(b)

Sol. There are only four eligible categories of PSLCs i.e. PSLC General, PSLC Small and
Marginal Farmer, PSLC Agriculture & PSLC Micro Enterprises. PSLC stands for Priority Sector
Lending Certificates.Company under the Department of Posts with 100% GOI equity.



